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Analysis Cuts For Reference

* Track Cut
Xtpc < 4
nclsrpe > 90
nclsyrsg > 2
iIsSPDAny
—1lem < DCAyy < 1cm
—3cm < DCA; < 3cm
0.2 <pr<3GelV/c
Mults, g0 > 30



Before Analysis Cuts
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Before Analysis Cuts
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After Analysis Cuts
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1.2

J/Y¥ Reconstruction  tuwt
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J /W Reconstruction for run527109 and run528461
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Method Introduction

* Flow Definition: v,  Particle Correlation with discrete
N - summation formation
— = —{I—I—Z v”:'os[n(qo—‘Pn)]} ;
do 2w oy . ZD D eln(¢D1 _¢D2)
< e(®1-92) >p «p, = ——
* Method with event plane(assuming ¥,, = 0) 1 Np,Np,
| ,\ _ 90,0p,
y LE”"f’f(p) d’p Np,Np,
U”('D)E<E >: ] QD — Z‘uEDelTld)u
f fp)d’p , ,
D * Method in this report
 If there 1s no event plane, use particle b1 }P }152
correlation | - |
f e 179 f(py,py) d’pr1d’p; © >
D, XD, n

(ej”'ff-f’l—f-f’:1>ﬁlxpjz

oy L
f f(pr.py) dpid®p, < el@V=¢17¢2) > = UV V1 — reference flow
D, XD, } )

1 1s the spatial angle of J/y flow

(e b1~ b }>D] <D, = v,(Dy)v,(D,) ¢, and ¢, are the azimuthal angles of reference

particle. 9



Reference Flow(Two Particle Correlation v1) less event
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Reference Flow(Particle Correlatlon v2)

b1 Y ¢2
M pal
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From Run2 13TeV pp Analysis Notes(For charged particle)
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Y }ﬁz nwidth = 1,p;r <1 GeV/c
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va(mgp) = v32a(mes) +v5 ¢ (me)[1 - a(my,)]
Next step: use the formula above to fit v, J /Y
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